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1. Edward H. COURTENAY
Dubuque Chess Journal 1870

#2 5+1
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2. Otto WURZBURG
The Staten Islander 1918

#2 4+4
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3. Tibor VESZ
1.n. Good Companion, Meredith T.1923-II

#2 8+4
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4. Lars LARSEN
Arbejder-Skak 1942

#3 6+3
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5. Josef CUMPE
Parallèle 50 1950

#3 6+4
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6. Cornelius J. DE FEIJTER
Algemeen Handelsblad 1932

 +           Beli igra i dobija 3+3
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1.a8L!  [5 поена] 
1... Ka7 2.c8S#  

1.Dh1! [5] 
1...Sc2/Sd1/Sf1/Kf5 2.De4#  

1...Sg2 2.Db1#  

1...Sg4/Sd5/Sc4  2.De4#/Db1#  

1...Sf5/g4 2.Dxh5#  

1...Sf4/Sg3/Sg7 2.Dh7#  

1...Sxf6 2.Se7# 

1. Sg5! [5] ~ 2.Sde4# 
1...Sb3/Sc2/Se2/Sf3/Sf5 2.Se6#  
1...Sxd2+/Sxg5+ 2.Rd5#  
1...Sxd6+ 2.Sdf3# 

1.Tb6! [1]  
1...h5 2.Tb5 [2]  L~ 3.Tb8#  

1... Kxa7 2.Ta6+ [2]  Kxa6, Kb8 

3.Lf1#, Lg3# 
 

1.Sh5! [2]  ~ 2.Lf2+ [1] 

1...exd4 2.Sf4  [1]   ~  3.g3# 

1...Lc5 2.Sxf6  [1]   ~  3.Tg4# 

1.Lg4! [1] Tc7 2.Lb6  
2…Tc3 3.Lxa5 Kd2 4.Lf5! [2] 
2…Tc2 3.Lxa5+ Td2 4.Kh1! [2] 


